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Conservação da energia 
Capacitor carregado
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Meio condutor


• Carga decai


• Energia decai
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Pratique o que aprendeu      


<latexit sha1_base64="M7YzXrmhSIQyhCQ/bSvVTjje+Do="></latexit>

~S =?

<latexit sha1_base64="vbNqqB/jozWG9M8pcbWDUMEiA1w="></latexit>

~S =
1

µ0

~E⇥ ~B

~J

z

y
x

a

s

y

x



Pratique o que aprendeu      


<latexit sha1_base64="M7YzXrmhSIQyhCQ/bSvVTjje+Do="></latexit>

~S =?

<latexit sha1_base64="vbNqqB/jozWG9M8pcbWDUMEiA1w="></latexit>

~S =
1

µ0

~E⇥ ~B

~J

a

z

y
x

a

s

y

x

~S =?



Pratique o que aprendeu      
<latexit sha1_base64="vbNqqB/jozWG9M8pcbWDUMEiA1w="></latexit>

~S =
1

µ0

~E⇥ ~B

⇥

Linhas de campo de ⃗S?
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